[ Efficiency vs vertpos |
~ 0.05

9.045
4
20.04
(8]
$.035
[
£0.03
0.025
0.02
0.015
0.044
0.005

10
1.1

...............................................

........................

Ratio

L L L L AR AT L RN RN R AR RRRRN RARRN LARLE RRRRN LRR

0.8 .
1072 10 1 10 0?
TP vertr (cr%)

—=— DQM_mkFit_TT_base_noSel
Efficiend —— poM_mkFit_TT_retrainOldFiles_v2_8iter2_noSel

ot AN
4'.{@11}:]? mili!

-10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.05
>
00.045
IS
7 0.04
$.035
2y
c0.03
@
8.025
(0]
0.02
0.015
0.01
0.005

e
1.2

...........

Ratio

P
HR
T

10 15 20
Sim. PV z (cm)




	Contents
	Page 1


